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: 35 ROokE0|H
Ha|o10}lEY HEHA 0|2(30~45718) U 6.11~8.27.(2)1620~1700 12 | 90,000 40,000
ey &5 S8t
s e ZAt ZolUA| S+ SZE(E) IEH|(F) A
Q7H=0| 2| E UZ(6~1271Y ZIME]| | 6.9~8.25(4)11:00~11:40 12 | 110,000 36,000
Q7ZH=0| 2|S LU=(13~2471]) ZIME| | 6.9~8.25(2911:50~12:30 12 110000 | 36000 3= S0Ks0|gt
olnjat 2o =5H=0|E{(30~4571Y) 0|Z=  6.9~8.25(8)16:00~16:40 12 110,000 mXfH| 30,000

27



HO[RAI=

N

CHAZEA| A R 2 137(CHS) T. 053) 632.3800~2

o SH{SIAHO|EOIIIE

SM7IE2SMIE 3,45 = SIHHERS
(M7 B2 AEH, 25) ‘ HIA|LOHIIE
°J|:|HMI-_Q_ ¢ O|D|.E
il ® [T Sh
oiI7loItE 272%3_.*5":_ =
o
CH-1oHES
B Sl
[ )
AKTIZHEZZ|A
1ZjOHIE

HA HA
) M1, A, A, MM, 26 IR S T 12 5/ 306,623,600 51k} 5 £ 108

i i
T2/ 609, 2M4, EMA1, M2 BIRt F EE 5E /) A 1 4aH ET SR EH 152

X FEXIL0| HASI LS ES 01Z35H FAI7| HIELICE



